A

ZF.O0BAT-M140 wmanTG-A

. Laternakandur / lampholder

. Kronstein / bracket

. Kompensaator / rubber plate

. Kompensaator / rubber plate

. Polt / bolt M8x25 mm

. Polt / bolt M10x25 mm
Mutter / nut M8 DIN 985

. Seib / washer 8,4x16x1,6 mm
. Seib / washer 8,4x24x2 mm
10. Seib / washer 10,5x20x2 mm
11. Vedruseib / spring washer A8
12. Vedruseib / spring washer A10
13. Polt / bolt M8x80 mm

14. Tdmbemutter / blind rivet nut M8

OCONOOTA~WN =

ilma paikesesirmita/
without sunvisor

= paikesesirmiga/
j with sunvisor
ilma paikesesirmita/

without sunvisor

katusespoileriga/
with spoiler

ANONAEANDMORNDONDNDN =

Pilt 1/ Pic 1

* The lampholder should be mounted to the original mounting points. The front
mounting goes to the sunscreen mounting points A (pic. 1), and the rear
mounting goes to the roofspoiler's mounting points B (pic. 1).

e |f the truck doesn’t have either the sunscreen or the roofspoiler, then the
lampholder should be mounted to the place of the original mounting points.

1/



